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1. (a) y(x) = e3x − 2e2x.

(b) y(x) = x2e−x.

(c) y(x) =
senx2

x
.

(d) y(x) =
ex

3
+ 2e

x2
.

(e) y(x) =
x− senx cosx− π

2 senx

(f) y(x) = x
(

1− 2e4−
x4

4

)
.

2. (a) y(x) =
1

1− x
.

(b) y(x) = − 2

x2 + 2x− 1
.

(c) y(x) = tg

(
x2

2
+ 2x− π

4

)
(d) y(x) =

1√
2 cosx− 1

.

(e) y(x) = −3

2
(1 + e2x).

(f) y(x) = 2e
x2

2 − 1

(g) y(x) = e
x2

2 − 2

(h) y(x) = ln(x2 − cosx+ cos 1).

(i) y(x) = −1−
√

4 + ln(1 + x2).

(j) y(x) = −1

2
ln(1− 2 ln(x+ 2)).

(k) y(x) = 2− ln(e+ (x+ 1)e−x)

(l) y(x) = − ln
(
e1−x2 − e

2

)
.

3. Le soluzioni sono rispettivamente

(a) y(x) =
2 + 4e3x

1− 4e3x
, (b) y(x) =

2− 2e3x

1 + 2e3x
, (c) y(x) ≡ 2.



4. Le soluzioni sono rispettivamente

(a) y(x) =
e2x − 1

e2x + 1
, (b) y(x) ≡ 0, (c) y(x) =

3e2x + 1

3e2x − 1
.

5. Le soluzioni sono rispettivamente

(a) y(x) =
√

2ex − 1, (b) y(x) = −
√

2ex − 1.

6. Le soluzioni sono rispettivamente

(a) y(x) = π + arctg x, (b) y(x) = π − arcsen (x+ x2).

7. (a) y(x) = 3 cos 2x− 2 sen 2x.

(b) y(x) = e−x − e−2x.

(c) y(x) = −2e−x senx.

(d) y(x) = −e
−2x + 2ex

3
.

(e) y(x) = (2− 5x)e3x.

8. (a) y(x) = c1e
−7x + c2e

3x − 1

3
e2x.

(b) y(x) = c1e
−4x + c2e

−2x + 2x2 − 3x.

(c) y(x) = c1 cos 3x+ c2 sen 3x+
ex

5
+ x− 2.

(d) y(x) = e2x(c1 cos 4x+ c2 sen 4x) +
2e4x − x

4
.

(e) y(x) = c1e
−3x + c2 −

senx+ 3 cosx

10
.

9. (a) y(x) = −e−x(cos 2x+ sen 2x) + 3x+ 2

(b) y(x) =
e3x(−3 cosx+ 12 senx) + x− 3

2
(c) y(x) = (1− x)e−2x + 2e2x

(d) y(x) = e−3x(− cosx+ 3 senx+ 1)

(e) y(x) =
−e−x(cosx+ senx) + 2 sen 2x− cos 2x

2
.

10. (a) ȳ(x) = −x
2

cosx.

(b) ȳ(x) = xe2x.

(c) ȳ(x) = −x
2

2
e−3x.

(d) ȳ(x) = 2x3 − 2x2 + x.

(e) ȳ(x) =
x3

2
− x2.


